Al

| have three
Answer:

There are four in the garden.
Answer:

She has two
Answer:

We bought five
Answer:

The teacher gave us six
Answer:

He has seven in his pocket.
Answer:

There were eight in the box.
Answer:

They found nine on the beach.
Answer:

| saw ten in the tree.

Answer:

She has eleven on her desk.
Answer:




Answers

| have three
Answer: cats

There are four in the garden.
Answer: flowers

She has two
Answer: friends

We bought five
Answer: books

The teacher gave us six

Answer: pencils

He has seven in his pocket.
Answer: coins

There were eight in the box.

Answer: apples

They found nine on the beach.
Answer: shells

| saw ten in the tree.

Answer: birds

She has eleven on her desk.

Answer: pens



